AIEEHRIC (B4R R)

REEHITIRR (FHTEF4R D)

XHE | XHER Xk ANE X & (M)
R7.4.1 G o EER FH 3,000
R7.4.1 G e o ABR FH 3,000
R7.4.4 BRE BER FH 3,000
R7.4.6 S8 BERRAWXZEE 2B (BRRAWZ LR 5,000
R7.4.7 CYE o EHE B 3,000
R7.4.8 =& IRETRAEREESHES SE(KREREREREMESBHRE 5,000
R7.414 | &% EWETE TSR HEE B (KMETEA IR E 5,000
R74.15 | &% ERETREXZER KB (KRATEEZTERBHRR) 13,000
R7.4.16 | BE% HHER FH 3,000
R7.417 | &% EMEEIEFEHE SBE (KRBT IRFERHER) 5,000
R74.19 | BE£ KA R FH 3,000
R7.420 | &% KXWRETHGE & =B (KRETHBE XD =) 12,000
R7420 | &% =ER FH 3,000
R7.425 | &% FHEKYHERR KB (KRET#HEHAEERESRS 10,000
R74.28 | BE& BHR FH 3,000
R7.429 | &< INFRR FH 3,000
R7.429 | BE& INEER FH 3,000
R7.429 | % IR ERithEsR SE (KT SR HEREEIR) 5,000
90,000
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RES 0 0

HEE 0 0
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AEEER= (F4KER)
REERITRR (SHTESA D)

XHBE | XHRS X% N XHEEE (M)
R7.5.2 E==1 JAZALGHEER & (B A R X IRBEEERERER) 5,000
R755 | £%& 5RE & LB GRES-BEHSR) 5,000
R7.5.5 HREE BEXR FH 3,000
R7.5.7 BT INIER i 3,000
R7.5.7 FREE BER i 3,000
R7516 | £ HRVPAEEER SEBE (REPLIETERR-BHEE) 10,000
R7516 | & XREE ISR SE(XRITE IR -BHR) 5,000
R7.5.23 e 2 )111EE EHR (ER)EEI/O—VBERIR) 5,000
R7.523 | &% #ER i 3,000
R7525 |% BIUAIEDdSERE KE(BILAEDLSREZFRR 5,000
R7527 | BE%& EHEZR o 3,000
R7.529 | ZDih BT E GlK ZEREHED R EDIT) ZDih 3,240
R7530 | & XWRETEE M OEER KB (KRETEE IR -BHRE) 5,000
=51 58,240
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R7.6.1 e FAEES e (F19EFrLPHYT2025) 5,000
R7.6.2 HEE INRR EF8 3,000
R7.64 | &% B LS HET B EER S RERE KE (Lo bhBEEMEMHRITHRERS 5,000
R7.6.6 HEE HHER FH 3,000
R7.6.8 BRE EER il 3,000
R7.6.10 | BE& EABR FH 3,000
R76.12 | BF& AR FH 3,000
R76.14 | &% EREE SEBE(ARRERMODELY) 10,000
R76.18 | BRE%& BEHR i 5,000
R7.6.18 | BRi& AR=HULN TR (JrhTER 8,800
R7.6.20 | =% KRBT AL SB (KRBTt - BHR) 5,000
R7.6.21 BREE KPR o 3,000
R7.6.21 G o HER FH 3,000
R7.6.29 | ik XRETREESHEER e CERFER 5,000
R7.630 | =% ERETH =B HERE L& (RWATHSEIGESFTEEBES 5,000
& i 69,800
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e 10,000 2
= 25,000 4
BRE 34,800 9
RESE 0 0
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M E 0 0
Z D4t 0 0
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XHE | XHEER X5 AR ZHEEEE (M)
R7.7.3 | &% HMHEEREERE SE(BEEREBREOERRHRE) 10,000
R7.7.10 | BE% HERR FH 3,000
R7.715 | £& EEIREER £E (KB ESHMHERRIBRE) 12,000
R7.7.18 | &% RBREMEIWRZ B EZEE 2B (REREHERIMIZBPASRHER) 5,000
R7.7.19 | &% e e R 5 A SBE (AL EAEESRE 5,000
R7.720 | BE& INKRZR FH 3,000
R7.7.25 | &% BERAEZER RE (I —RAN\VIHMBREENE) 10,000
R7.7.26 | #&F&E [k €3 il 3,000
& &t 51,000
REt
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